C:# Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 84,022 - 48,853 =

< ° ° ® ° ® o> »

2) 96,688 - 95,390 =

< ® @ ® @ ® >

3 98,302 - 40,590 =

< ® @ ® L >

4) 61,001 - 48,038 =

< ® @ ® @ ® >

5 68,662 - 43,138 =

< ® @ L ® L *—>»

6) 74,269 - 34,153 =

< ® @ L ® L *—>»

") 84,551 - 30,260 =

< ® @ ® L >
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Subtraction Using Open Number Lines Name: Answer Key
Solve each problem. Answers
1) _ -
84,022 - 48.853 . 35169
35169 35,172 35222 36,022 44022 84,022
< > 2 1,298
-3 -50 -800  -8,000 -40,000
s 57,712
2) 96,688 - 95,390 =
4 12,963
1,298 1,388 1,688 6,688 06,688
< > s 25524
-90 -300 -5,000 -90,000
6 40,116
3 98,302 - 40,590 =
57,712 57,802 58,302 98,302 7. 94291
< | S ———— >
-90 -500 -40,000
4) 61,001 - 48,038 =
12,963 12,971 13,001 21,001 61,001
< g
-8 -30 -8,000 -40,000
) 68,662 -43,138 =
25524 25532 25562 25662 28662 68,662
< g
-8 -30 -100  -3,000 -40,000
6) 74,269 - 34,153 =
40116 40,119 40,169 40269 44269 74,269
< g
-3 -50 -100  -4,000 -30,000
") 84,551 - 30,260 =
54.291 54,351 54,551 84,551
< g
-60 -200 -30,000
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Subtraction Using Open Number Lines Name:
Solve each problem. Answers
35,169 12,963 25,524 57,712
1,298 40,116 54,291 1
1) 84,022 - 48,853 = 5
84,022
< .\_/.\_/.\M/. > 8.
-3 -50 -800 -8,000 -40,000
4,
2) 96,688 - 95,390 =
5.
96,688
< e——— o ——— e —— o 9o >
-90 -300 -5,000 -90,000 °
3) 98,302 - 40,590 = 7.
98,302
< e——————o ————o 9o >
-90 -500 -40,000
4) 61,001 - 48,038 =
61,001
< I ——— >
-8 -30 -8,000 -40,000
5) 68,662 -43,138 =
68,662
-8 -30 -100 -3,000 -40,000
6) 74,269 - 34,153 =
74,269
-3 -50 -100 -4,000 -30,000
7) 84,551 - 30,260 =
84,551
< .\/.\/.\/. >
-60 -200 -30,000
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